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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 259 14.9 5.7 25 59.5 12.2
2 1231 15.6 5.3 25 62.4 58.1
3 419 10.8 4.8 25 43.4 19.8
4 1410 15.2 4.7 25 61 66.6
5 701 14 5.6 25 55.8 33.1
6 172 12.9 5.8 25 51.7 8.1
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Answer two questions.

2. (a)	 Explain the development of equity.	 [14]

(b)	 Discuss the impact of modern equity upon the development of the law in England and
Wales. [11]
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Sticky Note
The Court of Chancery was established in 1474.



Sticky Note
1474.

Sticky Note
Maxims and particularly remedies would be more appropriate in Section B when discussing the impact of modern equity. 
This answer is lacking in a more detailed explanation of the Judicature Acts 1873-1875.



Sticky Note
The answer is lacking in a discussion of remedies, with supporting case law e.g. injunctions, Mareva and Anton Pillar; recertification; rescission and specific performance. 

Sticky Note
Important to include modern remedies such as super injunctions.























Sticky Note
This is a sound answer that has focused on the question posed. The candidate has provided a chronological discussion of the development of common law and equity and has included many key terms and legal authority to support. Candidate has progressed logically through the 'story' of the development of common law and equity. There are some issues discussed that are not strictly relevant to part a) such as the remedies.







Sticky Note
Another sound response to part b). The candidate has focused well on the remedies of equity. The candidate has used key terms effectively, such as the different types of injunction. The candidate has also considered the modern role of equity and has included more recent remedies. Good examples are used to support. Some case law on the original equitable remedies might have enhanced the answer and taken this from bottom sound to top sound. 













Sticky Note
A sound answer fully explaining the development of equity with relevant legal citation to support. 





Sticky Note
A good evaluative answer which would have been further enhanced by the use of cases to support the discussion of the remedies, e.g. injunctions, Anton Pillar, Mareva; super- injunctions, Ryan Giggs, Specific performance, Benke v Bede Shipping.  
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Answer two questions.

3. (a)	 Explain the role of the Crown Prosecution Service. [14]

(b)	 Discuss the role of the Criminal Defence Service. [11]
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Sticky Note
Candidate seems to be referring to the old public interest test. There is a new version of the Code with public interest test questions. Candidates should use up to date law. 

Sticky Note
Important point here about the Full Code test.

Sticky Note
The point could be made more clearly that the CPS has three main roles: 1. Charging. 2. Deciding whether to prosecute. 3. Prosecuting in court. 

Sticky Note
A concise introduction but main points have been included. Citation of the relevant Act also given.



Sticky Note
An up to date example. 

Sticky Note
Again an evaluative point that would normally be more relevant for a part b), however there are some useful comments regarding the role.

Sticky Note
The candidate has now progressed to consider some evaluative points regarding the CPS. Though not strictly relevant for this question, it does enhance the answer in absence of more that could have been said on the role. 

Sticky Note
A little confused on the threshold test. As this question is focused on the role of the CPS, the candidate needed to more closely focus on the three roles.



Sticky Note
Many candidates struggled with this part b) as they assumed that as the a) was regarding the CPS, so was the b). However, the b) was about the Criminal DEFENCE Service. This candidate has appreciated this and focused the answer accordingly.

Sticky Note
Good to see a conclusion here. The candidate has displayed up to date knowledge of the new DPP.



Sticky Note
A brief response on b) but enough to achieve top adequate for AO2. Some use of key terms and some legal authority. Nice use of a recent article on the legal funding cuts. More could have been said about the LASPO 2012 reforms specifically for criminal legal aid.
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Answer two questions.

4. (a)	 Explain the different types of jury trial available in England and Wales. [14]

(b)	 To what extent is trial by jury reliable? [11]
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Sticky Note
This is a well focused answer on the role of the jury. The candidate has provided an effective introduction to put the answer in context and to frame the response. Key legal authority is included. The three roles of the jury are considered and the candidate has demonstrated knowledge and understanding of each of these roles. However, in order for this answer to achieve full marks, further legal authority is needed. For example, the CJA 2003 and the possibility of trial by judge alone could have been considered for the criminal role. There was legal authority needed for the civil role. Ward v James could have been included. This answer just creeps into the 'sound category' but it could have been marked as adequate. 



















Sticky Note
Good practice to include examples of inquests, e.g.  Herald of Free Enterprise; Princess Diana; Hillsborough.

Sticky Note
A sound explanation of the three different types of jury trial.





Sticky Note
A thorough evaluative answer including all relevant legal citation.











Sticky Note
This script is typical of many responses. There are some inaccuracies but the candidate has considered the three main roles and has provided a brief account. There was much more to say if this script was to achieve any higher. The candidate needed to consider the three roles in a lot more detail and needed to include legal authority to support. 



Sticky Note
The candidate has attempted to focus on the reliability of trial by jury and has produced a 'lower adequate' answer. There is some use of recent examples with the 'Facebook juror' but much more range was needed in order to achieve a higher mark. For this question, a consideration of the changes to selection in the CJA 2003 and corresponding case law such as Abdroikof and Khan was needed. 









Sticky Note
Very limited, only criminal juries briefly mentioned, the 3 different types should be explained in full.





Sticky Note
Some good points, however lacking in legal authority. Cases are not cited directly, though there is implication. Missed opportunities to include cases. 
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Q.2 (a) Explain the development of equity. [14] 
 
Credit reference to: 


 Whether fusion took place is a controversial question. One of the 
oddities of the statute of limitation regime is that it does not expressly 
or directly apply to equitable claims 


 The Judicature Acts brought about the re-organisation of the Superior 
Courts and was in fact the procedural fusion of law and equity 


 Matters of both law and equity can now be determined in the course of 
one set of proceedings but if there is any conflict between rules of law 
and rules of equity, the latter are to prevail.  


 Problems of common law 


 Form vs fusion  


 Judicature Acts 1873-75 
 


Marks AO3 


1 Presents effective communication using appropriate legal terminology.  
Nonetheless, there may be several errors in grammar, punctuation and 
spelling, although not enough to detract from communication of meaning. 


0 Fails to communicate and present logical argument, including inadequate use 
of legal terminology.  There are significant errors of grammar, punctuation 
and spelling which detract from communication of meaning. 


 


Marks AO1 


 Knowledge and Understanding 


11-13 Candidates display a sound knowledge and understanding of the subject 
content relevant to the question and a good perception of the concepts and 
principles underlying that subject content.  They display a sound 
understanding of the practical application of the law and are aware of current 
debate and criticism including the major proposals for reform. 


7-10 Candidates display an adequate knowledge and understanding of the subject 
content relevant to the question and have a perception of some of the 
concepts and principles underlying that subject content.  They display a 
general understanding of the practical application of the law and are aware of 
aspects of current debate and criticism. 


3-6 Candidates display a limited knowledge and understanding of the subject 
content relevant to the question with limited insight into some of the concepts 
and principles underlying that subject content.  They display a limited 
understanding of the practical application of the law and are aware in general 
terms of some of the current criticisms. 


0-2 Candidates display a basic knowledge and understanding of the subject 
content relevant to the question and/or identify some of the relevant 
principles.  They demonstrate occasional basic insights into some of the 
concepts and principles underlying the subject content.  They display a basic 
understanding of the practical application of the law. 
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Q.2 (b) Discuss the impact of modern equity upon the development of the law 
in England and Wales. [11] 
 


Credit reference to: 


 Relevant citation especially of recent cases 


 Examination of the scope of equity 


 Modern day equitable remedies including injunctions, rescission, 
rectification 


 The fusion of common law and equity 
 


Marks AO3 


2 Presents a wholly logical and coherent argument and provides clear 
application using appropriate legal terminology. This does not mean that 
there are no errors in grammar, punctuation and spelling but these will only 
be occasional. 


1 Presents a mostly logical and coherent argument and provides a reasonably 
adequate application using appropriate legal terminology.  Whilst there may 
be errors in grammar, punctuation and spelling, these are not enough to 
detract from communication of meaning. 


 


Marks AO2 


 Skills 


8-9 Candidates demonstrate a sound evaluation of how the law operates, or an 
accurate and well-substantiated application of the law to a given factual 
situation.  This is achieved through their selection of legal authorities, by 
appropriate methodologies and by their ability to apply the law to a given 
question.  They support their conclusions by citation, analysis and analogy. 


6-7 Candidates demonstrate an adequate evaluation of how the law operates, or 
a generally accurate and substantiated application of the law to a given 
factual situation.  This is achieved through their selection of legal authorities, 
by appropriate methodologies and by their ability to apply the law to a given 
question and support their conclusions by citation. 


4-5 Candidates demonstrate a limited evaluation of some of the points of how the 
law operates, or apply the law to a given factual situation in a partly accurate 
and occasionally unsubstantiated way.  This is achieved through a limited 
selection of legal authorities and limited ability to apply the law to a given 
question. 


0-3 Candidates demonstrate a basic evaluation of one of the simpler points of 
how the law operates or apply to the law to a given factual situation in a 
generally inaccurate and unsubstantiated way.  There will be little or no 
reference to legal authorities and points will not be developed.  There will be 
very limited evidence of structure in the candidate's response. 
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Q.3 (a) Explain the role of the Crown Prosecution Service. [14] 
 
Credit reference to: 


 The CPS is the prosecuting agency in England and Wales  


 Background to the creation of the CPS 


 There are other state funded prosecuting agencies such as the 
HMRC; the Health & Safety commission; pollution inspectorate; Local 
Authorities have responsibility for licensing and trading standards 


 The possibility of private prosecutions  
 


Marks AO3 


1 Presents effective communication using appropriate legal terminology.  
Nonetheless, there may be several errors in grammar, punctuation and 
spelling, although not enough to detract from communication of meaning. 


0 Fails to communicate and present logical argument, including inadequate use 
of legal terminology.  There are significant errors of grammar, punctuation 
and spelling which detract from communication of meaning. 


 


Marks AO1 


 Knowledge and Understanding 


11-13 Candidates display a sound knowledge and understanding of the subject 
content relevant to the question and a good perception of the concepts and 
principles underlying that subject content.  They display a sound 
understanding of the practical application of the law and are aware of current 
debate and criticism including the major proposals for reform. 


7-10 Candidates display an adequate knowledge and understanding of the subject 
content relevant to the question and have a perception of some of the 
concepts and principles underlying that subject content.  They display a 
general understanding of the practical application of the law and are aware of 
aspects of current debate and criticism. 


3-6 Candidates display a limited knowledge and understanding of the subject 
content relevant to the question with limited insight into some of the concepts 
and principles underlying that subject content.  They display a limited 
understanding of the practical application of the law and are aware in general 
terms of some of the current criticisms. 


0-2 Candidates display a basic knowledge and understanding of the subject 
content relevant to the question and/or identify some of the relevant 
principles.  They demonstrate occasional basic insights into some of the 
concepts and principles underlying the subject content.  They display a basic 
understanding of the practical application of the law. 
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Q.3 (b) Discuss the role of the Criminal Defence Service. [11] 
 
Credit reference to: 


 Section 12 of the Access to Justice Act 


 Duty solicitor schemes – advice and assistance, representation based 
on a merits and means test 


 The Public Defender Service. Note the evaluation of the public 
defender service. Defendants who are changed and represented by 
the PDS were more likely to plead guilty in the Magistrates’ Court. The 
evaluation found that the cost effectiveness of the PDS was not as 
good as for private firms. During the first three years of its operation, 
the average costs for the PDS ranged from between 40% to just over 
90% higher than the cost of private firms 


 New rules under LASPO 
 


Marks AO3 


2 Presents a wholly logical and coherent argument and provides clear 
application using appropriate legal terminology. This does not mean that 
there are no errors in grammar, punctuation and spelling but these will only 
be occasional. 


1 Presents a mostly logical and coherent argument and provides a reasonably 
adequate application using appropriate legal terminology.  Whilst there may 
be errors in grammar, punctuation and spelling, these are not enough to 
detract from communication of meaning. 


 


Marks AO2 


 Skills 


8-9 Candidates demonstrate a sound evaluation of how the law operates, or an 
accurate and well-substantiated application of the law to a given factual 
situation.  This is achieved through their selection of legal authorities, by 
appropriate methodologies and by their ability to apply the law to a given 
question.  They support their conclusions by citation, analysis and analogy. 


6-7 Candidates demonstrate an adequate evaluation of how the law operates, or 
a generally accurate and substantiated application of the law to a given 
factual situation.  This is achieved through their selection of legal authorities, 
by appropriate methodologies and by their ability to apply the law to a given 
question and support their conclusions by citation. 


4-5 Candidates demonstrate a limited evaluation of some of the points of how the 
law operates, or apply the law to a given factual situation in a partly accurate 
and occasionally unsubstantiated way.  This is achieved through a limited 
selection of legal authorities and limited ability to apply the law to a given 
question. 


0-3 Candidates demonstrate a basic evaluation of one of the simpler points of 
how the law operates or apply to the law to a given factual situation in a 
generally inaccurate and unsubstantiated way.  There will be little or no 
reference to legal authorities and points will not be developed.  There will be 
very limited evidence of structure in the candidate's response. 
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Q.4 (a) Explain the different types of jury trial available in England and Wales.
 [14] 
 
Credit reference to: 


 Criminal and civil juries including coroners courts 


 Candidates will be rewarded for relevant citation  
 


Marks AO3 


1 Presents effective communication using appropriate legal terminology.  
Nonetheless, there may be several errors in grammar, punctuation and 
spelling, although not enough to detract from communication of meaning. 


0 Fails to communicate and present logical argument, including inadequate use 
of legal terminology.  There are significant errors of grammar, punctuation 
and spelling which detract from communication of meaning. 


 


Marks AO1 


 Knowledge and Understanding 


11-13 Candidates display a sound knowledge and understanding of the subject 
content relevant to the question and a good perception of the concepts and 
principles underlying that subject content.  They display a sound 
understanding of the practical application of the law and are aware of current 
debate and criticism including the major proposals for reform. 


7-10 Candidates display an adequate knowledge and understanding of the subject 
content relevant to the question and have a perception of some of the 
concepts and principles underlying that subject content.  They display a 
general understanding of the practical application of the law and are aware of 
aspects of current debate and criticism. 


3-6 Candidates display a limited knowledge and understanding of the subject 
content relevant to the question with limited insight into some of the concepts 
and principles underlying that subject content.  They display a limited 
understanding of the practical application of the law and are aware in general 
terms of some of the current criticisms. 


0-2 Candidates display a basic knowledge and understanding of the subject 
content relevant to the question and/or identify some of the relevant 
principles.  They demonstrate occasional basic insights into some of the 
concepts and principles underlying the subject content.  They display a basic 
understanding of the practical application of the law. 
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Q.4 (b) To what extent is trial by jury reliable? [11] 
 
Credit reference to: 


 The role of juries particularly in complex matters, for example, 
involving fraud  


 The selection and composition of the jury. Occasional evidence 
emerges which supports the contention that verdicts are reached on 
inappropriate criteria 


 Candidates will be rewarded for discussions on measures proposed to 
limit jury trial and also for citation of appropriate legal research 


 


Marks AO3 


2 Presents a wholly logical and coherent argument and provides clear 
application using appropriate legal terminology. This does not mean that 
there are no errors in grammar, punctuation and spelling but these will only 
be occasional. 


1 Presents a mostly logical and coherent argument and provides a reasonably 
adequate application using appropriate legal terminology.  Whilst there may 
be errors in grammar, punctuation and spelling, these are not enough to  
detract from communication of meaning. 


 


Marks AO2 


 Skills 


8-9 Candidates demonstrate a sound evaluation of how the law operates, or an 
accurate and well-substantiated application of the law to a given factual 
situation.  This is achieved through their selection of legal authorities, by 
appropriate methodologies and by their ability to apply the law to a given 
question.  They support their conclusions by citation, analysis and analogy. 


6-7 Candidates demonstrate an adequate evaluation of how the law operates, or 
a generally accurate and substantiated application of the law to a given 
factual situation.  This is achieved through their selection of legal authorities, 
by appropriate methodologies and by their ability to apply the law to a given 
question and support their conclusions by citation. 


4-5 Candidates demonstrate a limited evaluation of some of the points of how the 
law operates, or apply the law to a given factual situation in a partly accurate 
and occasionally unsubstantiated way.  This is achieved through a limited 
selection of legal authorities and limited ability to apply the law to a given 
question. 


0-3 Candidates demonstrate a basic evaluation of one of the simpler points of 
how the law operates or apply to the law to a given factual situation in a 
generally inaccurate and unsubstantiated way.  There will be little or no 
reference to legal authorities and points will not be developed.  There will be 
very limited evidence of structure in the candidate's response. 
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